Chapter 12 Quiz Review

Use Traditional or P-value method for each question.

Name:

\e In a recent Presidential election, a random sample of the percentage of voters who voted is shown. At
a = 0.05, is there a difference in the mean percentage of voters who voted? If there is a difference in
means, use the appropriate test (Scheffe or Tukey) to determine where the difference(s) lie.
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2‘ Random samples of summer gasoline prices per gallon are listed for three different states. Is there

sufficient evidence of a different in mean prices? Use @ =

0.01. If there is a difference in means, use

the appropriate test (Scheffe or Tukey) to determine where the difference(s) lie.
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3. Alot of different factors contribute to air pollution. One particular factor, particulate matter, was measured for
prominent cities of three continents. Particulate matter includes smoke, soot, dust, and liquid droplets from
combustion such that the particle is less than 10 microns in diameter and thus capable of reaching deep into the
respiratory system. The measurements are listed here. At the 0.05 level of significance, is there sufficient
evidence to conclude a difference in means? If so, perform the appropriate test to find out where the

differences in means are. -
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